Townhouse in Cospicua



Cospicua, South



€530,000

Total Rooms: 11

Bathrooms: 3

Floor Area (m²): **93**

Reference No: 240251096-232

P☐ Bedrooms: 3

Townhouse - For Sale - Cospicua

COSPICUA - Located in one of the Three Cities is this spacious, brightly lit, highly finished ten roomed TOWNHOUSE with outdoor space. Layout consists of a welcoming entrance hall, living room, sitting room, fitted kitchen/dining, three bedrooms, two bathrooms, balcony, spacious yard, ideal for entertaining, washroom, terrace with sea views and roof. Traditional pattered tiles in very good condition. Freehold.

Features

- Natural Gas
- Ceramic Floor
- ✓ Water Utility
- Yard
- Space For Pool

- Kitchen/Dinette
- Entrance Hall
- Electricity Utility
- Air Space
- Roof Terrace

Rooms

Living: 4.28 x 3.44 m (14.72 m2)

✓ Sitting: 5.09 x 3.67 m (18.68 m2)

Double Bedroom: 3.63 x 5.13 m (18.62 m2)

Hall: 3.4 x 3.26 m (11.08 m2)

Double Bedroom: 3.78 x 3.83 m (14.48 m2)

Kitchen: 2.92 x 2.4 m (7.01 m2)

Double Bedroom : 3.25 x 2.63 m (8.55 m2)

Laundry: 4.31 x 3.57 m (15.39 m2)

✓ Dining: 3.78 x 3.23 m (12.21 m2)

✓ Bathroom : 0 x 0 m (0 m2)

✓ Bathroom : 0 x 0 m (0 m2)

Bathroom: 2.78 x 0.99 m (2.75 m2)

Gallery

























Clive Pollacco RE/MAX Advantage - Msida

M: 79486346

E: clivep@remax.com.mt

T: 21222123

RE/MAX Advantage - Msida Regional Business Centre, Triq Achille Ferris, Msida, Malta